Little Bale Feeder
Assembly Instructions

Thank you for purchasing the NZ Made
Kiwi Bale Feeders - Little Bale Feeder.

PARTS LIST

Please check you have all the required parts:
« 2 x end frames « 2 x centre frames

« 8 x M10x65 bolts « 10 x M10x40 bolts

« 6 x M10 washers « 18 x M10 nyloc nuts

TOOLS
16mm and 17mm ring spanner or equivalent.

BALE FEEDER ASSEMBLY

* Take one end frame and one centre frame + Bolt each skid to the end frames using four M10x40

and connect the two using two M10x65 bolts. bolts. There are two height options for the skids.
Make sure the steel mesh is on the outside of 1 S R I

T €

the frames. So these bolts up finger tight for
now, until all the parts are bolted together.

« Place the lid on to the bale feeder, bolt it to the
frame with two M10x40 bolts with three washers
between the lid and the frame on each side.

* Bolt the other end frame to the centre frame
with two M10x65 bolts.

Tighten these bolts fully, then back them off 1 turn.

« Bolt the last centre frame to the end frame
with two M10x65 bolts at each end.

Your Little Bale Feeder is now ready to use!

& Kiwi

bale feeders

KIWIBALEFEEDERS.CO.NZ | 06 210 2276





